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Note : Attempt all questions.
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Instruction : (A) Question No. 1 is an objective type question. It has three
parts—Part (A), Part (B) and Part (C). Part (A) has Multiple
choice type questions, Part (B) has Match the following and
Part (C) has Fill in the blanks. Each part has 5 questions

and each question carries 1 mark.
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UgA-1  (@ue-37) Hel fasheq g fafan : [1x5=5]

(Part-A) Choose and write the correct option :

(i) T Hl o1 3TRY fohd <91 9 gam ?
(&) S
(a) SR
(@) &9
(7) foea
From which country the economic depression started?
(a) Germany
(b) America
(c) Russia

(d) Britain

(if) WTepfae GETEE ¥
(37) ad
(&) HbH
(@) Y9aq
(3) dsh
Natural resource is :
(a) Forest
(b) House
(¢) Building

(d) Road
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(iii) YTRA THR H Fsd oh §

(37) T HeHhRI o
(&) WS Hed S
(7) W RS o
(3) 9RAHE W2 o

The central bank of Indian Government is :
(a) State Co-operative Bank

(b) Central Bank of India

(c) Reserve Bank of India

(d) State Bank of India

(iv) WS giaensl i 3ame e ¢
(37) &R (7) fosteit
() ™ (3) Tsh
It is not an example of public welfare :
(a) Car (b) Electricity

(c) Rail (d) Road

(v) e 99 H STgfaa Sfd o fore sTRfaa die €
(371 47 (%) 84
(®) 48 () 74
The reserve seats in Lok Sabha for Scheduled Tribes are :
(a) 47 (b) 84
(c) 48 d) 74
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(TUe-a ) 3fed Ty Sifsy

(%) (@)
() EHTHER - (37) Sy, Toerh
(i) I - (¥ fag
(ifi) SAEHITH fgd T - (9) e
(iv) et AR - (3) wREfid =een
(v) HIH T SR - (3 T Ete

(Part-B) Match the following :

(A) (B)
(i) Marble - (a) Doctor, Teacher
(ii) Uranium - (b) Egypt
(iii) Business interest group - (¢) Dollar
(iv) Colonel Nasir - (d) Converted rock

(v) United States of America

(e) Atomic mineral

(ave-u ) fm = # 9 i -
(Part-C) Fill in the blanks :
() S —— FEEA T |
Fishis  resource.
(i) FrmfR § —— o7 H1 YUER T |
Niyamgiri has reserves of  ore.
(iii) ST Toaa ™ it TS —— € |

is the capital of North Vietnam.

[1x5=5]

[1x5=5]
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(fv) QA T A A —— Tl TS foha |

Subhas Chandra Bose has formed .

(v) TR St AF 3R =T & @l-Sie —— B g |
The income and expenditure of the government are accounted

in

T : (F) T HHF 2 W 6 TF ATeswE T ¥ | TF T W
2 3 ameifed 21 (I i TRy Iee-HHT 30 < ®)

Instruction : (B) Question Nos. 2 to 6 are very short answer type questions.
Each question carries 2 marks. (Maximum word-limit of

answer is 30 words)

Uga-2 IufeTe yeref s € ?

What is waste material?

Y9a-3 & HI Scuiaeh shitd oel 3R =i g8 2

When and why did the Bolshevik Revolution take place in Russia?

fa o N

UST-4 Qs fohd Thed © 2

What are called Minerals?

U9A-5 o Yh Afed ¥ Ueh A TR o1 3fed gim ?

Will it right to take equal income tax from every person?

Y9I-6  SUMAS 6 WRA H el HHIG g2 ?

When was colonialism ended in India?

2]

[1+1=2]

2]

2]

2]
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: (F) T HEER 7 ¥ 10 9 AfTTEETd T €1 Tdw T W

3 37 aTreifed §1 (T 1 3fehan see—dier 50 Use ®)

Instruction : (C) Question Nos. 7 to 10 are very short answer type questions.

U -7

Y-8

YI1-9

Y91-10

Each question carries 3 marks. (Maximum word-limit of

answer is 50 words)

Ifg fordt <o ) G | a1 9l % AN Sarel €, A S99 i el
I hdt B 2 [3]

If there is more youth in the population of a country, then what will

be the economic system of that country?

I ok SAYRR 1 ITART T ST G40 § R-F1 Giaen I h

Hehell & ? [3]

What facilities can the public get from the Panchayat by using the

right to information?
TR & I < 9RA, faaaT R svemfmEn § wWdsar & 9% i guR
g1 3 R feoqoft fafEw | [1+1+1=3]

Write a note on the land reforms after Independence in the three

countries of Asia—India, Vietnam and Indonesia.

oot & o1y o Tme § 2 [3]

What do you understand by Disarmament?
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: () Y HEEH 11 9 14 TF THSA0T T © | Tk T3 | =ik

foIehed & | Uceh U9 W 4 3k SAeifed & | (ST hi SATehad

Yea-dHT 75 Wse ®)

Instruction : (D) Question Nos. 11 to 14 are short answer type questions.

YIT1-11

Each question has internal option. Each question carries

4 marks. (Maximum word-limit of answer is 75 words)

Tt TS 3T hl TR 9 o I & SR <Ife] :

7,032

5,113

3,610 3,811 3,868

g@&éﬁfﬁﬁfﬁ'@@f«&@g

() <& T @ w1 W fafaw |

(i) e Afereh St b1 SUANT fhe 9 H fopan ST § 2

(i) Ra ¥ gfa =faq Seit w6t @ud feraet 2

(Gv) E AN B GG HH el bl Gud fHT <9 H Bt § 2 [1+1+1+1=4]

S-3A

P.T.O.



[8]

Answer the questions given below by looking at the given diagram :

7,032

5,113

3,868

3610 811

(/) Name the given diagram.

(if) Which country uses the most energy?

(iii) What is the per capita energy consumption in India?

(iv) Which country consumes the least energy in the given diagram?

3741/ OR

fETTIaTd o 3@ ol <@ A ST I & IW T

RA H T

1
e 64 935 950 946
950 945 941 930 932 gp7 933 940
900 1
QN AN PN e N\ N N N N N N AN
2 N SIS 2 RS R N N L DN N

EL|
s T AT

(i) T ek feima fore <o | w1 E 2

(i) T %Y T fFe goe § Wi e ?

(iii) TFa ok & e fermue fRaR sgar feas 3 wi e ?

(iv) §9 2011 1 fmIara ermae fre <9k | =Rk g1 79 ?
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See this graph of sex-ratio and answer the following questions :

Sex-ratio in India

1000
972

355 950 gu5 946 guq
950 930 932 gp7 933 940
900 T

N A A N A A N N N \ N AN
N2 AN O s RN SN S Y ® ®

Years )
— S EX-TAt10

(i) Which decade has the highest sex-ratio?
(ii) Which decade has the lowest sex-ratio?
(iii) After which decade the sex-ratio is seen increasing continuously?

(iv) In which decade has the sex-ratio of 2011 become almost equal?

37g4qT/OR
hadl gite ated ok T ( For visually impaired only) :
Teh TIhad SR Toh HiHamel aERIe! H 31 %eh § 7

What is the difference between a Democracy and a Fascist Dictatorship?

37I4q1/OR
U H SEEAT & ¥cd § a1 3Tfres fafaerar s ot S g 2

Why is there so much variation in the density of population in India?

TeA-12 9w fava gg H AT o WS & =1 RO 9 ? [1+1+1+1=4]
What were the causes of defeat of Germany in the First World War?
3741/ OR

HWW%WWWWQWW?

What was the impact of the First World War on the general public?
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U9a-13  Afgenedi i g f¥1en & fau iR -1 sy 3 =g ? 3moH femm
fafem) [4]

What efforts should be made to the better education of women? Write
your thoughts.

34T/ OR

T A= fafen fo ard = H4 fosfaa foran s w21

Write a paragraph on how India can be developed.
U9I-14 A iR Aferrseane | a1 SR § ? [1+1+1+1=4]
What is the difference between Nationalism and Hyper-nationalism?
37941/ OR
T fastelt 3R am foset o o fafau|
Write the difference between hydro power and thermal power.

fdor : (3) Y HH 15 T 16 SE=TUT Y99 € | TS 999 H A=
fehed & | e U39 W 5 3k 3Teifed € 1 (S| &l Stferan

Yee-HH1 700 3 )

Instruction : (E) Question Nos. 15 and 16 are long answer type questions.
Each question has internal option. Each question carries

5 marks. (Maximum word-limit of answer is /00 words)

Yy-15 501 fhd hed € 2 01 & fou ord, S—=ae ¥, 99a, sAHd, et enfe

i STERIh I Sl & 2 TSR | [1+1+1+1+1=5]

What is called Loan? Why some conditions, like—interest rate, time,

guarantor, mortgage, etc., are essential for loan? Explain.

S-3A
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379741/ OR

Ffe R Roid o arftrfsges sl W e =& W@, @ g1 w9

ST G T G491 cI%‘ll.7

If the Reserve Bank of India does not control commercial banks, so

what will be the effect on the currency (money) and credit?
T-16  Wifd oAkl H i @ ewifa o ded % faw w®n weH 3@l
ghd € ? [1+1+1+1+1=5]

What steps can those involved in the Peace Movement take to prevent

unrest?

3741/ OR

. TSR ToT Rt STTeISehdl il ¢ ?

Why Disarmament is needed?

T : (W) U ¥k 17 To 18 SrESTT U9 ¢ | Todeh 999 | ST

fohed T | Tcieh 99 T 6 3ok STMeifed © | (SR ki 31feehan

- 750 I= )

Instruction : (F) Question Nos. 17 and 18 are long answer type questions.
Each question has internal option. Each question carries

6 marks. (Maximum word-limit of answer is /50 words)

YgA-17  HagH Uihdl o ©: Tog faee i =amen &g | [1+1+1+1+1+1=6]

Briefly explain the voting process by writing six points.
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3797a1/OR

HAerd Hde i 1 T8l 9 § (HE ) ?

Why voters don’t go to vote (any six)?

U9A-18 I 9 i Fishan H Toe, SwEffers W 5 Yahr f1R € 2 39 o =

YT T TR TR B AT ThRIH ? [1+1+1+1+1+1=6]

How Parliament is dependent on the Executive in the process of law

making? Whether this will have a positive or negative effect on the law?

37T/ OR

JUHEN Te HEARYG & FaHl ! Fqad gU THHH & HEl 1 FUH
TSI |

Describing the relationship between Prime Minister and Council of

Ministers, discuss the works of Prime Minister.

oooooooooo
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